| Efficiency vs Dxy |
> 05

dx

S
©
I
)]
[

........................................................................

o
N
|

efficiency v

R o

o
[
[

ozt
s T S S S S S
0aSE
o

QO

L b bl lomg oo Lo Lo v laan

1.

Ratio

e a1

I

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DOM_TT_mKF-DQM_origmal-0
— —e— DQM_TT__mkFit-DQM_original-127

| Efficiency vs Dz | | 5 pSM_TT _mkFit-DOM mod-127

0.5 —+— DQM_TT__mkFit-DQM_mod_updated-127

dz

377 SN NN RS S S —

a\ E . . . . .
L S s S S
(&) r

£ 035 S— — SN S
® : : : : :

0.3 e oo R
0.25 | R — AR N—
SN S Y S S

530 =2 j 0 20 30
TP dz (cm)



	Contents
	Page 1


